s

f:uwaﬁg; o
bject Code : o

H
INTERMEDIATE EXAMINATION-2024 |§
5
F=HITSTE e - 2024 : ;
T i 2w ( ANNUAL / ifie ) Eg’
Question Booklet -
Ser Code : _ 4 g
E
g
BIOLOGY (ELECTIVE)
I. Sc. ( Theory/RGi{da )

FATRT 1 70+ 20 + 6 =96 T Hfxd IS ¢ 32

Total Questions : 70 + 20 + 6 = 96 Total Printed Pages : 32

(99 : 3% 15 fame) ' (ot : 70)

[ Time : 3 Hours 15 Minutes ] [ Full Marks : 70 |

Uﬁ?ﬂﬁlﬁ F ford ﬁra‘&vr : ' Instructions for the candidates :

| aamef OMR FHY-UAF.GC WGAT | Candidate must enter his / her
v gfiasr # e (10, : Booklet Serial No.
HTYT 1@ | (10 Digits) in the OMR Answer

2 g U 379+ {,és are required to give

FA G/ ers in their own words
s lracticable.

=2 ?ng':f? 3 87@7?} a7 3. Figures in the right hand margin
qorfe e #d 21 indicate full marks.

i ot =78 ear—ﬂ(ﬁ%' '787? 4. 15 minutes of extra time have been
qelenTeral # 15 e allotted for the candidates to read
a7y e TR the questions carefully.

24 /A /XI1I-5009-(36/40) Page 1 / 32

by:BSEBResult.In



F (119]

2. 9 B 37%3’7 gl @vgl § &— 5. This question hooklet is divided into

GUg- U @S-/

. @Ug-r ¥ 70 FEfre wT & 6.

R @ fr=t 3s avat &7 Fwv a7
Afrard &1 35 goat & sifve @7
SR & W T 35 F & qoAHA
g1 e & foro 1 ofa iR &1
FTH 3T 3 F foerg IveTy I
T OMR 3R-UA% H Ry M0 @t
faweq w1 Ad / Ft T IT I
T #1 fEE W s &
wWgeTY/ AT werd / ®E / G
HIT *T OMR I~ TAF ¥ WaPT
FTAT AT 8, e wien ukemy
AT g '

 @uE - TF 20 FATIAE
qeiF & g 2 o ke 2, [
@ fret 10 wvH FT I W
Sifrard & | @@ ke T 0%
3 & 2 Fang weT Rd ™ 2
gt & f s s R & A
3 frat 3 @vl & IW T
sfrard 2

,Wmé;gﬁagﬁ?ﬁsvmw 8.

' sy ot A 8 1

two sections — Section-A and
Section-B.

In Section-A, there are
70 objective type questions, oul

“of which any 35 questions are to

be answered. If more than
35 questions are answered, then
only first 35 will be evaluated.
Each que:stion carries 1 mark. For
answering these darken the circle
with blue / black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be
treated invalid.

. In Section - B, there are 20 short

answer type questions. Each
carrying 2 marks, oul of which
any 10 questions are to be
answered. Apart from these, there
are 6 long answer type
questions, each carrying
5 marks, out of which any
3 questions are to be answered.

-

Use of any electronic appliances is
strictly prohibited.
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F 19

Que - 3 / SECTION - A
TS uye / Objective Type Questions

5T qEr 19 70 w%mmakmawﬁamfavw#}'ﬁ:rﬁ#w.
wa??rav#mg#wwﬁ%mm}omvﬁzwﬁﬁw#:ﬁﬁ?
35 T FT 377 & - , 35x1=35

Question Nos. 1 to 70 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR-Sheet. Answer any

35 questions. : 35x1=35
1. U 1-whfa i safiar wr g o

(A)  TEEEW S SUER A . (B) | aum % 39 A

(C) ﬁammzﬁ?%mﬁ (D) WYAE F IT=R |

What is the use of alpha-1-antitrypsin ?-

(A) In treatment of emphysema

(B) In treatment of asthma

(C)  As insecticidal ;;rotein |

(D) In treatment of diabetes

frafafaa @ @ fra fafr gro 3fees 3t %1 yada g @ 2

() g (B} FEHRH

(C) PCR D) A
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[119].

Which of the following methods is used for the amplification of

nucleic acid ?

(A) Transformation (B) Transfection

(C) PCR (D)  Micropropagation
mpﬁmmqﬁﬁ@w%mmwwmﬁ
ST R ? |

(A) 3= pH (B) & pH

(C) e pH (D) vEa Iy o & pH

At what pH insecticidal protein synthesized by Bacillus
thuringiensis becomes active ?

(A) Acidic pH

(B) Alkaline pH

(C) Neutral pH

(D) First acidic then alkaline pH
ﬁa@%qﬁtﬁﬁqyﬁ%éﬂﬁﬂﬁﬁgmmmmﬁm
m%ﬁaﬁwﬁﬁﬁwﬁaﬁﬁmﬁa@mmw%?
ey (B) T

(A)

(C) FEEREE ict! D) iafERiE
RNA interference is utilized to prevent nematode infestation in

tobacco plants. By which vector are nematode specific genes

introduced ?

(A) Bacteriophage (B) Retrovirus

(C) Escherichia coli (D) Agrobacterium
——
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TR e B Rt et e & I e o
(A) 20

) 27

(B) 15

(D) 5

How jeti .
many varieties of Basmati rice are grown in India ?

(A) 20 (B) 15

(C) 27 D) 5
_ﬁ%ﬁgﬁﬁﬁﬁj%@ﬁ.@.ﬁéﬂﬂéﬁ%ﬁﬁﬁﬁ%ﬂﬁw@
S, Shat % wfaw 6 gean w Aok o 2 o

(A) T @ TR R (B) S e Ry

(C) St3wH. . (D)  widw wwE wrter

Which of the following organizations makes decision regarding the

validity of GM research and the safety of introducing GM

organisms ?

(A) ~ Department of Science and chhnoln::;gy
(B) Départment of E’:iotechnology

(C) GEAC

(D) Indian Patent Office

e fasy 1 T frg & F TAEYE A R 2

(A)  arifefaeht (B) et
(€) i i (D) LR
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10.

119

Name of Ramdeo Mishra is associated with which field of

research ?

(A)  Ecology (B) Biotechnology
(C)  Green revolution (D)  Genetics

HIV f1 § firg R R e 5o 2 2

(A) BRI B TR

() sfifufcre +ifiem (D) T-Re SR
HIV attacks on which of the following cells ?

(A)° Becells | (B) T-cells

(C) Epithelial cell (D)  T-helper cell

v e sRe 9w T w1, g % e ael § AW R
FEATT 8 ?

() TS (B) frmem

(C) =g (D) wrfithoryA

Going down of inorganic water soluble nutrients into the soil

nutrients is called as

(A)  Fragmentation " (B) Leaching

(C) Catabolism (D)  Humification
Ted W % FIER afvees wrdta fafaua feadt @ 2

A) 7 fem | B) 1-5 fufem
(C) 20-25 faferm - (D) 2 fafamm
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12.

(119 ]
According to Robert May how much is the global speccics
diversity ?
(A) 7 million (B)  1:5 million
(C)  20-25 million (D) 2 million

WRa it N9 fafeua fava ) ga S5 ffygs = e shea £ 2

(A) 2:4% (B) 81%

| Q) 5% . D) 9%

Biodiversity of India is what percentage of the total global species

diversity ?
A)  2-4% B 81%
€) 5% (D) 9%

fawifan sher H fafre wefml % 200 @ s fet & faclim &

T FT T ?
(8)  Hefacgaa ‘ B) et sfvat =1 o
© fa e (D) 3Ty afy

What was the reason for extinction of more than 200 species of

| Cichlid fish in Lake Victoria ?

(A) Co-extinction (B) Alien species invasion

(C) Overexploitation (D) Habitat loss
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Fre=foas § @ 9 fyvgsardt 3w & wwo T R 2

(A)  SharE $u= 1 31@m (B) aEH

(C) waEm frepe (D) - it srlv aren T
Which of the following is not the reason for global warming ?
(A)  Use of fossil fuels |

(B) Deforestation

(C) Population explosion

(D) Improvement in the efficiency of energy use
ﬁn&f@aﬁaaﬁq-mimmaa@mwﬁ a2

(A) TEWHIZ

(B) Y 34fre 3w gl @

(C) waTas w1 ftHan Igam

(D) TETERS IJETHI B FEA

Which of the following statements is incorrect about organic

farming ?
(A) Itis cyclic
(B) Zero waste 1S generated

(C) Maximum utilization of resources

(D) Use of chemical fertilizers

24 / A/ X11-5009-(36/40) Page 8 / 32
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15, - AoRd % aR # Fffa § @ W o9 sw 2 2 ‘
(A) AR T ARl wataii s |
(B) RN e Y & g O ) @ wea
(€) AN 3= WG A wew 2
(D) TIHA YRS % et w e B 2
Which of the following statements is incorrect about temperature ?
(A)  Temperature is the most important environmental factor
(B) ’I_'emperature decreases from the equator towards the pole
(C) Temperature increases with increase in hcfght

(D) Temperature is low at the summit of a mountain

16. aiftn frdwt (o) # Refs F0 w1 & wphes T T B TR R
e ST 2 2

(a) == (B) THR ww

(C) wgET (D) uTifesfas @

At which level is natural selection operated to evolve the desired
traits ?

(A) Individual level (B) Population level

(C) Community level (D) Ecosystem level

17. qman&%mﬁnﬁgﬁm—tﬁ,m—mqﬁmmﬁ%aﬁﬁﬁ
%1 wfiwa F99: 9ed % 3 ? @ I8 wiofafea v @ fe anfy
(A) TG R (B) TR
c fere o) Rmd

24 [ A/ XII-5009-(36/40) Page 9 [/ 32




" When percentage of individuals of pre-reproduct

(119 ]

ive, reproductive |

and post-reproductive phase is in decreasing order in the age

pyramid of human population, it shows that populafion is

(A) Expanding (B) Decreasing

(C) Stable (D) Unstable
18. Trmafafan # @ #F Sfavme § & aR o +QA € ?
(A) WITE WEMETRIA §0H oel T i
(B) T@urh
() uft v wHurRft
(D) o<l Tq W
Which of the following reproduces once in a lifetime ?
(A)  Pacific salmon fish and bamboo
(B) Mammals
(C) Birds and mammals
(D)  Litchi and mango
19. ader 6 gia Freea: qafta Irfadl & To-a19 @ &1 HRO =T o7 2
(a) el JrgEsH (B) HamE favem
(C) AT (D) @i
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20.

21.

22.

(119

What w : ;
was the reason for co-existence of five closcly rclated species

of warblers ?

(A} - Competitive exclusion (B) Resource partitioning
(C)  Parasitism (D) Commensalism
mﬁ%ﬁ—mwﬁhwmmm%?
& xR B)  FeigfE

(C) <HTh Dy (D) @

Which . ‘ :
ich of the following plants produces poisonous cardiac

glycoside ?

(A) Cactus (B) Calotropis

(C) Coffee plant (D) Tobacco

frafafeaa & @ F19 3wTes § ?

A FE T B) e fm

(C) wE® Td SfEm (D) e, g T ey

Which of the foll-ﬂwing are decomposers ?

(A) Fungiand algae (B) Fungi and virus

(C) Fungi and bacteria (D) Fungi, bacteria and virus

Wﬁawmﬁ%mwmaﬁ?

(A) Sfraroprsti (B) S

(C) PpBR322 (D) &S

Page 11 / 32
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Which of the following is not a cloning vector for bacteria ?

(A)  Bacteriophage (B) Plasmid
(C}  pBR322 (D) T-DNA
23. Teffen § & fem fift & gl do = @Y g ARET $ 35 3
e aRa fe s @ -
(A)  TEAEFA (B) ® 9=
) m (D) G -9

Which of the following methods is used to inject recombinant DNA

into nucleus of animal cell directly ?

(A)  Transfection (B) Transformation
(C) Gene gun (D) Microinjection
24. ST F SO ¥ Fah B FHT A ¥ GG B € ?
(A) TTEETEH (B) e
(C) diTes (D) IR
For isolation of DNA a fungus is treated with which enzyme ?
(A) Lysozyme (B) Cellulase
(C) DNase (D) Chitinase
o5 frofafaa 8 @ $1-pBR322 ® T & ?
a) Sy 3 Ieafy B) witEuw w&
c a-dwEe (D) wfrdfas sfaadt =

24 /A/XII-5009-(36/40) Page 12 / 32
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2

(119

Which of the following is absent in pBR322 ?

A L : :
(A)  Origin of replication (B)  Restriction site

(D) WWWWW

If a foreign DNA is inserted in tetracycline resistant gene, the

recombinant plasmid

(A) Will lose ampic-illln resistance
(B)  Will lose tetracycline resistance
(C) Clq.nzing would become easier

(D)  Ampicillin resistance will become stronger

Frrfirfia @ R e & Aot e sreRe W fR a2 2

(A) wEfFiEd (B) uHg UBRFg
(C) TuAEEIEm (D) kIt

From which of the following bacteria, thermostable DNA

polymerase is isolated ?

(A) Agrobacterium (B) Thermus aqualicus

(C) Methanobacterium (D) Archaebactena

]34 /A/X11-5009-36/40)

Page 13 / 32



(119 |

28, Pwefefea @ @ @7 dfam Sreans o aefa F@ e 2

29.

30.

) whfRia B e yfebda

(C) e Hieft D) anfhawifen

Which of the following bacteria synthesizes insecticidal protein ?
(A)  Agrobacterium (B)  Bacillus thuringiensis

(C)  Escherichia coli (D) Archaebacteria

Frefefaa 3§ @ F-m wuw o $ vfeph & Wi o 2 2
(A) Sy = el vt g @

(B) deAe i wfepf F1 W@ taren dewe Wl 3

(C) wiapfa & et st et 3 wftumreasT Ieafeada Bl @
(D) 'mﬁﬁa%ﬁmmﬁm@m%

Which of the following statements is incorrect about DNA

replication ?

(A) DNA replication is semi-conservative

(B) Main enzyme for DNA replication is DNA polymcrasé
(C) Mutation appears due to error in replication

(D)  Replication on both strands of DNA is continuous

frrfafe § & 13 UHmsn TsEEmE ST % SHAEA jq JaEr @ 2

(A) OO, Tt (B)  3UAT Wiefiits |
(C)  HANUAT 9T 11 (D) AT gt (1)

[24/A7X175009 weran] Page 14 / 32



31.

32.

(119 ]

Which i
ich of the following enzymes is responsible for transcription of
ribosomal RNA ? |

(A} RNA polymerase (B) RNA polymerase 1

(C) RNA polymerase II (D) RNA polymerase III

$9 N 1 W FE R @ A I s T A 21 W Fe W} ww
Ed 8 2 ' ‘

() Irdfey | (B) B

(C) urEhitfis (D) fafe

Some amino acids are coded by more than one codon. Such code is
known as

(A) unambiguous (B) degenerate/redundant

(C) universal | (D) specific

A% ANH A y FF i P 2 2

(A) €l AeeIETEes ®1 §2 AGH

@) v w5

(C) THIHR S H Fe WG

(D) TS F FE wEH

What is the role of y gene in lac operon ?
(A) Codes for B-galactosidase

(B) Codes for permease

(C) Codes for repressor gene

(D) Codes for transacetylase '

24/ A/ XI1-5009-(38/40) Page 15 / 32
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(119
33, JUSt ww frwas srerm w anuniE R 2
(A) e fem B) qerrE Wi faam
g amwm (D) uEr fawm
Paleontological evidence is based on the study of
(A)  embryological development
(B)  comparative anatomy
(C) fossils
(D)  divergent evolution
34.  T°0 ¥ wEETd T QUi 2
(A)  eEd fawm (B)  arfvardt fawa
(C) T fawma (D) WM
What do analogous structures show 9
(A)  Divergent evolution (B) Convergent evolution
(C)  Parallel evolution (D)  Saltation
35,  wifaefas TE-faal A @0 w6 g 2
(A) 18,0004 @ (B) 10,000 99 qd
) 75,0009 @ (D) 40,000 99 gd
When did pre historic cave art develop ?
(A) 18,000 years ago (B) 10,000 years ago
(C) 75,000 years ago (D) 40,000 years ago
[24/A/X10 5009 Gere] Page 16/ 32
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36.

37.

38.

(119 ]
@“ﬁaﬁwlﬁﬁsﬁa&qﬁmmg )

- Rl g, B) feafm A

@ Rafm o (D) i B,

Amoint of which vitamin increases after conversion of milk into
card ;

A Vitamin g, (B)  Vitamin A

(C) Vitamin ¢ (D)  Vitamin B,
Wﬁ%hﬁmmmm%mﬁmwﬁ
A 6 w6 ? |

@) wBidwmw B) wRevw

€ Rivciwimg D) SR

Alexander Fleming discovered penicillin while working on which of
the following bacteria ?

{A)  Streptococcus (B)  Acetobacter

(C)  Staphylococcus (D) Lactobacillus

frefefaa # @ 217 Rt % G o dwa 2 2

a) wWwdew (B) VwEW

© ¥fm 0 D) @M

Which of the following inhibits synthesis of cholesterol ?

(A) Protease (B) Streptokinase

(C) Penicillin | (D) Statin




39.

40.

41.

(119
T R A Fu dhe W ) g w1 FE E 2
(A)  Fah HaHT (B) WgHIRA
© i (D) G Y

Capacity to generate a whole plant from a plant cell is called as

(A)  Tissue culture (B) Pluripotency

(C) Totipotency (D) Micropropagation
fearde Prefefga wmed & & frae =< 8 ?

(A) ™ B g

© % (D)

Hisardale is a breed of which of the following animals ?
(A) Cow (B) Buffalo

(C) Sheep (D) Chicken

frferfaa § & frg adts % wam 3 dien S aEE S g0 g Tw
fopar T o ?

(A)  IahEd T (B) b
(C) HH (D) Fask gadd

Which of the following techniques was used to get yellow mosaw

virus resistant mung lentil ?

(A) Mutation breeding (B) Introduction
(C) Hybridisation (D) Tissue culture
e
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42.

43.

44,

Y & gy Sl
T mm%ﬁmﬁ@%ﬁﬂﬁmmt&mﬂ
(A) maiﬁﬁmg‘m B) w3 3P A

C)  ¥mafm ay

fragments towards anode In
electrophoresis s DNA fragments be

(A)

ing
Negatively charged

(B)  Positively charged

(C) Charged

(D)  Charged with charges of both types
Frefafen 3 @ 95 Wi § s (Areafe) sam & fore e T8 & >

(A) &R (B) W= e

CF  H (D)  TEHeTh ()

Which of the following is not responsible for vegetative propagation
of plants ?

(A)  Offset (B) Bulb

(C) Rhizome (D) Gemmule

fotferfraa 1 @ F-81 Fu 3w ¢ 2

() A & we e & gffanen @ ekfen wa 2
@) o e 8

i Wjﬁq’wmaﬂmmmt

o s & i =@ o] & &

Page 19 / 32
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Which of the following statements is incorrect ?

(A)  Antheridia are present on antheridiophore of female thallus

of Marchantia
(B)  Charais monoecious
(C) Diploid gene forms gamete after meiosis
(D) Zoospores are formed in Cfdamydomonas'

Praffad 3 & frg 09 F T W AGH HE A & 2

&

() TaFeh (B ¥

(C) = (D) AT

Which of the following plants is referred to as ‘Terror of Bengal' ?
(A) Water hyacinth (B) Bamboo

(C) Lantana (D) Parthenium
g # & H oY a1 feE w2 2

(a)  SiaeffEmm (B) <dieH

(C) sE-a= (D) 9T N

Which of the following is not a part of microsporangium ?
(A} Endothecium (B) Tapetum
(C) Epidermis (D) Micropyle

mwﬁmﬁamm%m%mm
e &4 € ? -
(A) F1F BIH . (B) W S

) gAY s (D) WY Y

_____..--"'"
24 /A/ X11-5009-(36/40) Page 20 / 32
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49,

' [119]
hich ‘
: of the following cells divides to form two male gametes in
angiospermic plant ?

(A)  Vegetative cell (B)  Generative cell

{C)  Microspore mother cell (D) Microspore

ﬁmﬁf@aﬁﬁﬁqﬁ@-wﬁﬁ@%?

(A) W HIfE (B) 3T
(C)  wiveamaT i (D) qgEY =
Which of the following is not associated with egg apparatus ?
(A}  Synergid (B) Egg
(C)  Antipodal cells (D)  Filiform apparatus
I % §S H WWeE (THoeIH) Y 1 HEd B 0
(A) Yo (B) S
() &9 3rrEm (D) yofta s

Scutellum present in the seeds of grass is called
(A) Endosperm (B) Cotyledon

(C) Seed coat (D) Embryonal axis

g S e g AT O g S W g e T & S
o 35 e, Rt et et et off 3 e s @ 2

(A)  SwTier (B)  HESMIfe
() ot s D) favaty i @1 fm
24 [ A/ X11-5009-36/40) Page 21 / 32
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o2

[119]

: nd true breedin
In a cross between truc breeding red flowered a g

: : . eration was pink
white flowered plants of Antirrhinum the F, g€0 2

flowered which is an example of

(A} Dominance

(B) Codominance

(C) Incomplete dominance

(D) Blending of contrasting forms of a characterl'
frferfias o @ w7 FuF swA R ?

(A) st w1 Frafor s w9 3

(B) R fafaws €14 &

(C) W HRF el § 2 &

(D) 7cfiet &1 3maw # QiR g 2

Which of the follﬁwing statements is incorrect ?
(A) Characters are controlled by factors

(B) Factors are discrete bsebresult.in

(C) In pea, factors are in pairs

(b] Alleles blend with each other

WA AR & 1w w1 FfEEE smum = R 9
(A) At 1 |y T g

(B) T I F Il THF T4 T A B 3
(C)  ehier vl I v @ we §

(D) m.lﬁmgm@@gmmﬁmﬁﬁ

24/A/ X1I-5009-36/40)
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3.

54,

[ 119 ]
What is the Cytological basis of law of independent assortment 2
(A} There is no blending of alleles
(B)  Alleles of a pair separate during gametc formation
(C)  Alleles may be dominant of recessive
(D)  Pair of chromosomes arrange themselves in  line
independently in metaphase |
T 1 B Rrgia fred shafa fer o
(4) U (B) Wl T a1f
(C) v (D). &fm

Who propounded the chromosomal theory of inheritance ?

(A) Mendel (B)  Sutton and Boveri

(C) Morgan (D) Henking

frfeflaa & & S S e @ 2 -

(A) == fagm (B) FETH fagm

() o fagm (D)  Emirdiferen

Which of the following is not a chromosomal disorder 2

(A) Down's syndrome (B)  Klinefelter's syndrome
(C}  Turner's syndrome (D)  Haemophilia

e &1 x-feeeo faada siwe feed R »
(A) wifw fafewa wa tafee Sefem
(B)  =TOTE

() aree @ s

(D) @it

24 /A [ XII-5009-(36/40) nge 23 [ 32
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S

|119]

Who provided X-ray diffraction data of DNA?

(A)  Maurice Wilkins & Rosalind Franklin

(B) Chargaff

(C) | Watson and Crick

(D) Holley

o w38 & Wi 1 Pt 7o 2

(A) e 1 e enl dor @

B) Ty w1 sgEfies yere dee 2

(C)  Sftamy 1 el verd ARG 2

(D) foreryp 1 s s erd ameT 2

What was the conclusion of Hershey and Chase experiment l?
(A) Genétic material of bacteria is DNA

(B) Genetic material of virus is DNA

(C) Genetic material of bacteria is RNA

(D) Genetic material of virus is RNA |
Praferfiaa § @ W G HEA (SRR FEm) T8 2 0
(A) UAG (B) UGA

(C) AUG (D) UAA

Which of the following is not a termination codon ?

(A) UAG (B) UGA
(C) AUG (D) UAA
e
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58. SRV ARG % avheeer w1 7 379t 2 »
(A)

(119 ]

FAH, ST ARGHAT A 36fR St 1 [T
(B) W AW T VWM & &

©) e F G

(D)  FRTT Fi TN

- What is the meaning of charging of t-RNA ?

(A)  Linking of amino acid with cognate t-RNA

(B) Attachment of -RNA with ribosome
(C) ' Translation of RNA

(D) Modification of RNA

' 59, frafafga ® @ F swmms W @ 2

(A) TEHE ‘ (B) TwfEm

(C) H: (D) TEHEE

Which of the following is a non-infectious disease ?

(A)  AIDS '~ (B) Malaria
(C) Cancer (D) Typhoid
co. Pt § 4 fra w SR S 6 EEE. F 22
(a) femwrarse (B) WHEE
€ =@fed (D) R
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Which of the following blood cells is known as PMNL ?
(A)  Lymphocyte (B) Monocyte
(C)  Neutrophil (D) | Platelets
61. frifian # 3 fred g e # 8 2 2
A)  IgA (B) IgG
(€) IgM _ - (D) IgD
Which of the following is abundantly found in colostrum ?
(A)  IgA | (B) IgG
(© IgM | (D) IgD
62. sHTfufed ki R 2
(A) WIS B WH
(C) TS (D) Hh
What is diacetyl morphine ?
(A) Codf:ine ' (B) Heroin
(C) Cannabinoid (D) Coke
63. et wham & frw o R g A 2 2
(A) HAfE | (B) TEHIES
(€ T (D) =
Which fever is confirmed by 14?1;’idal test ?
(A) Malaria B) Typhoid
(C) AIf)S (D) Pneumonia
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64.

65.

66.

67.

[119]
T % T w1 % wre, o ¥ we e anmfert ffia 2 E 2
(A) 2TE - (B) 3HE
€y 13 (D) 6HE

After how many months of pregnancy, do limbs and digits of
embryo develop ?

(A) 2 months (B) 3 months

(C) 1 month (D) 6 months
Frefefea # @ i wilt wen § TR i s R 2
(A)  wht g B) W fie

€ dafis (D)  wmufis 4w

Which of the following secretes large amount of progesterone ?

(A)  Graafian follicle (B) Corpus albicans

(C) Corpus luteum | (D) - Primary follicle
HAVEI! % IvET 3TEn] fhg S wp At dm R 2
@A) ol felie (@ W) B) I TeaRE

(C) iR HfreHT (D) STah T (i )

After ovulation the ovum is surrounded by a group of cells called
(A) éorona radiata (B}  Zona pellucida

(C) Granulosa cells (D) Theca layer

fyerfefiad § ¥ w1 Fifew s 2 2

(A) ST (B) WUf® 3SH

) fedos s D) IS
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Which of the following cclis is haploid ?

(A)  Oogonia (B)  Primary 00Cyt€
(C) Secondary oocyte (D) Zygote
68. T T m Fium-ieh, 9 uzed 2, I 7 FE 2
(A) W@ 20 B) SR
(C) @ee () feraa 9
A new contraceptive pill which is non-steroidal is referred as
(A) LNG 20 (B) Progestaset
(C) Saheli (D)  Lippes loop
69. 2001ﬁm%mmﬁmq@aw‘é ?
(A) 1-1% (B) 37%
(C) ™ 2% | D) 3%
What is the population growth rate of India as per 2001 census ?
A 1-1% (B) 37%
(C) Approximately 2% (D) 3%
70. Frefafiga 3§ @ #9 3ia: iR gfe sHE A @ 2
() TEAES 375 (B) T W 20
() foorm (D) HR-&A
Which of the following IUDs is hormone releasing ?
(A)  Multiload 375 (B) - LNG-20
(C) Lippes loop D) CuT
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QT - ¥ / SECTION - B

. Y IWIT I / Short Answer Type Questions
A R g 20

. g I & | Rt 10 W F T ¥ 1 adwm & AU
23'?%?: 10x 2 =20

Question Nos. 7 to 20 are Short Answer Type. Answer any 10 questions.
Each question carries 2 marks :

L ot sy s @ 2
What is incomplete dominance ?

3R bt #1 et ABwd R w1 R = 02, D T dafy F hw T
F1 qh ? | 2

What would be the blood group of offspring, if the blood group of
mother is AB and blood group of father is O ?

3. AFE SwEe favee i W, are, Ay w wn w Ay ¥ R aee e W
T | . | 2

male, female, mating and

consanguineous mating in human pedigree analysis.

4. HFES S SRESET % WEl g ?

10x2=20
2

Draw the symbols wused for

What are the goals of Human Genome Project ?

5. SnEtefern % R T wgwEl ¥ R (Rew) § T waw o 2

What is the relationship between thorns of Bougainvillea and
tendrils of Cucurbita ?

6 oo 1 R sl 3 T R gin (AR waten  Rre B
YSITfd ITEET ] P 2

Name the different species of Plasmodium. Which species is
responsible for malignant malaria ?

7. wmfy gig W A wRe w1 e R 2

What are the factors which affect population growth ?
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8. W e A s I ‘
Explain parasitic adaptations.

9.  Hif¥ weradt whven w2 2 ¢
What is cell mediated immunity ?

10. W@h-qw%mmmwg? .
What is cyclosporin-A and what is its use ?

11. it @ fiefiers Icamesar #01 & ? ¢
What are the primary and secondary productivities ?

12.  STe¥ IS 1 ® Phsebresult.in 2
What is Dobson unit ? |

13.  ¥reAY @ 1 gumw qo Renfieo $d w9 € 2 2
How are DNA fragments separated and isolated ?

14, ELISA®TE ? | 2
What is ELISA ?

15. T (MOET) ¥ ? 2
What is MOET ?

16. uﬁam@@u@%aﬁ%ﬁm&mm%? 2
How is the name given to restriction endonuclease‘s ?

17. oY iy gt Y EE B R 2
Describe the structure of micro.sporangium.

18. fg-F=m &t =mem w1 | 2
Explain double fertilization.
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19 TP (W) wrerfie g '
Rt Yy et ( W“ﬁ?l:?g(zmﬂmﬁmm)‘l:

What are
Spermatogonia, pr;
» Primary spermatoc
Spermatocyteg ? B ytes and secondary

20, iy et wn § REE IR

What are Contraceptive pills ? How do they function ?

¢ 37 W / Long Answer Type Questions

¥ HEAT 21 @ 26 T I wv & :ﬁﬁ‘}'sw#d?m%:m%iﬁv

saia;ﬁaﬁa?rmarfbmmowa?ﬁaﬁaﬁm' 3x5=15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any

3 questions. Each question carries 5 marks. Give your answer in about
120 words.

21. o fafauar € @i sl € =men w4
Explain the causes of biodiversity loss.
22,  Frafafea o dhm foph fog .
(A) HERRE Th
(B) wufis wfwam

3x5=15

S

2x2: =95

Write short notes on the following :
(A) Phosphorus cycle
(B) Primary immunity.
23. frefafas w aftm foaoft fod - 2%x25=5
(A) TS
(B) ST H THMEND T
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24.

25.

26.

[ 119

Write short notes on the following :

(A)  Allergy

(B) Chemical composition of DNA.

AR S . g e 3 g ) R R P
How is gene of interest amplified by using PCRE
o v S — 2x25=5
@) S e s e § ST 8 2

(B) FHNEA TE F A it by syt 7 8 |

Answer the following questions :

(A)  Stability of DNA is higher than that of RNA. How ?

(B) What are the roles of three parts of transcription unit ?
Prfrftaa w wifere foomt ford - | 2%x23=5. .
(A) ST

(B) g ()

Write brief notes on the following :

(A) Implantation

(B) Autogamy.  fun o addfda a@aft veridl,
BT TGA, Uesl U, , AT
ATfBIRS AT fA® T Tad

UES Ut & ...

BSEBResult.In
e ® (I

24 [ A/ XII-5009-36/40) Page 32 / 32




